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Table 1: Endogenous

Variable LATEX Description

lambda λ Magrginal utility of consumption
C C Consumer consumption
G G Government consumption
I I Investments
Q Q Tobins q
rK rK Gross return rate of capital
R R Central bank key rate
Pi π Inflation rate YoY
P P Aggregate price level

Pstar P ∗ Optimal price level
MC MC Firms marginal cost
K K Firms capital
Y Y GDP level

CRC CRC Credits to consumer consumption
CRP CRP Credits to firms production
rD rD Bank deposit interest rate
rCR rCR Bank lending interest rate
M M Money in Utility
W W Wage level

Wstar W ∗ Optimal wage level
L L Labour
D D Aggregate level of consumer deposits

epsL εL Labour preferences shock rule
epsM εM Money holding preferences shock rule

epsCRC εCR
C

Consumer credit preferences shock rule
epsD εD Consumer deposit preferences shock rule
epsA εA Total factor productivity shock rule
ksiCR ξCR Bank lending risk-premium shock rule
epsR εR Inflation targeting shock rule
epsW εW Wage shock rule
epsP εW Price shock rule
epsPi επ Price shock rule

AUX ENDO LAG 3 1 AUX ENDO LAG 3 1 AUX ENDO LAG 3 1

Table 2: Exogenous

Variable LATEX Description

nuL ηL Labour preferences shock
nuI ηI Investments shock
nuM ηM Money preferences shock

nuCRC ηCR
C

Consumer credit preferences shock

3



Table 2 – Continued
Variable LATEX Description

nuD ηD Consumer deposits preferences shock
nuA ηA Technology shock
nuCR ηCE Bank lending risk-premium shock
nuR ηR Taylor rule shock
nuW ηW Wage rule shock
nuP ηP Price rule shock
nuPi ηπ Inflation rule shock
nuG ηG Government spending rule shock

Table 3: Parameters

Variable LATEX Description

HC hC Consumption habbit formation
SIGMAC σC Inverse of the intertemporal elasticity of substitution
KAPPAI κI Rotemberg investments adjustment weight
BETAC βC Consumers discount-factor rate
DELTA δ Depreciation rate of capital formation

PITARGET π Inflation target
BETAP βC Firms discount-factor rate
ROP ρP Share of firms changing their prices
PSIP ψP Elasticity of substitution in the production of goods
PSIW ψW Elasticity of substitution in the wage settings

KAPPAP κP Firms average adjustment cost
TAU τ Banks reserve ratio

BETAB βB Banks discount-factor rate
FIR ϕR Taylor rule weight

GAMMA γ Elasticity of firms factors production
SIGMAL σL Inverse Frisch elasticity of labor supply
ROW ρW Wage shock persistence rate

SIGMAM σM Elasticity of money in utility
PSIU ΨU General tendency to substitute deposits for loans

PSICRC ΨCRC Measure of replacing deposits with loans
HCRC hCRC Consumer credit habbit formation
PSID ΨD Measure of replacing loans with deposits
ROL ρL Labour preferences shock persistence rate
ROM ρM Money holding preferences shock persistence rate

ROCRC ρCRC Credits using preferences shock persistence rate
ROD ρD Deposits using preferences shock persistence rate
ROA ρA Technology shock persistence rate
ROAD ρAD Total supply shock persistence rate
ROCR ρCR Bank lending risk-premium shock persistence rate
ROR ρR Taylor rule shock persistence rate
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Table 3 – Continued
Variable LATEX Description

ROI ρI Investment dynamic acceleration rate
PSS PSS Steady-State level of prices (DLOG price level)
WSS WSS Steady-State level of wages (DLOG wage level)
YSS YSS Steady-State level of GDP (DLOG GDP level)
LSS LSS Steady-State level of labour (DLOG employment (in persons) level)
PiSS πSS Steady-State level of inflation (average level of inflation rate)
SIGCR σCR Bank risk-premium shifter
ROPP ρPSS Aggregate price dynamic shock persistence rate
ROWW ρWSS

Wage correction shock persistence rate
ROPi ρπSS Price correction shock persistence rate
ROG ρG Government spending rule persistence rate
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Table 4: Parameter Values

Parameter Value Description

hC 0.600 Consumption habbit formation
σC 0.750 Inverse of the intertemporal elasticity of substitution
κI 2.500 Rotemberg investments adjustment weight
βC 1.042 Consumers discount-factor rate
δ 0.025 Depreciation rate of capital formation
π 0.040 Inflation target
βC 0.800 Firms discount-factor rate
ρP 0.800 Share of firms changing their prices
ψP 9.000 Elasticity of substitution in the production of goods
ψW 3.000 Elasticity of substitution in the wage settings
κP 0.300 Firms average adjustment cost
τ 0.200 Banks reserve ratio
βB 0.900 Banks discount-factor rate
ϕR 0.200 Taylor rule weight
γ 0.100 Elasticity of firms factors production
σL 3.000 Inverse Frisch elasticity of labor supply
ρW 0.800 Wage shock persistence rate
σM 1.500 Elasticity of money in utility
ΨU 0.550 General tendency to substitute deposits for loans

ΨCRC 0.500 Measure of replacing deposits with loans
hCRC 0.900 Consumer credit habbit formation
ΨD 0.150 Measure of replacing loans with deposits
ρL 0.720 Labour preferences shock persistence rate
ρM 0.910 Money holding preferences shock persistence rate
ρCRC 0.840 Credits using preferences shock persistence rate
ρD 0.710 Deposits using preferences shock persistence rate
ρA 0.670 Technology shock persistence rate
ρAD 0.580 Total supply shock persistence rate
ρCR 0.730 Bank lending risk-premium shock persistence rate
ρR 0.760 Taylor rule shock persistence rate
ρI 0.430 Investment dynamic acceleration rate
PSS 1.510 Steady-State level of prices (DLOG price level)
WSS 2.390 Steady-State level of wages (DLOG wage level)
YSS 2.430 Steady-State level of GDP (DLOG GDP level)
LSS 0.100 Steady-State level of labour (DLOG employment (in persons) level)
πSS 0.000 Steady-State level of inflation (average level of inflation rate)
σCR 1.200 Bank risk-premium shifter
ρPSS 0.900 Aggregate price dynamic shock persistence rate
ρWSS

0.900 Wage correction shock persistence rate
ρπSS 0.200 Price correction shock persistence rate
ρG 0.800 Government spending rule persistence rate
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